H24

H21

22

23

143



H21 H24
0 10
100 100
22
22 6 30
57
0%
100%
22
23 23 0 0 23 100
2
3
1
2
3
3
2
23
2%
100%
5 5
4 4
3 3
2 2
1 1

144




H24

H21

145



H24

H21

10

22

10

22 6 30

22

23

146



H24

H21

147



H24

H21

22

23

148



H24

H21

22

23

149



H24

H21

22

23

150



H24

H21

22

36,180

36,000

23

151



H24

H21

22

1,161

1,161

23

152



H24

H21

H21

22

270

270

23

153



H24

H21

H21

22

8,074

10,308

23

154



10

H24

H21

22

23

155



11

H24

H21

22

8,100

8,100

23

156



12

H24

H21

22

23

157



13

H24

10

H21

22,598

25,055

22

23

158



13

H21 H24
7 P
22
41 16 /
u 1 7/ 5,831
7 15 /
167 12 7/
183 4 / 8
184 16 /
185 12 7/
141 3 /
4
21
4
4
5
5
4
23
9,947
10
5 5
4 4
3 3
2 2
1 1

159




14

H24

H21

22

8,002

8,002

23

160



15

H24

H21

H21

22

37,966

37,966

23

161



16

H24

H21

H21

22

3,055

2,987

22

61

66
138

23

162



17

H24

H21

22

23

163



18

H24

H21

22

23

164



19

23

H21 H24
[
22
1,435,024
1,212,562
96,430
126,032
5
23
1,637,600

(

1,497,600
) 140,000

R IN W B ol

=N W o

165




20

H21 H24
[
22
510,625
438,499
72,126
5
23
560,000
23 () 480,000
() 80,000
5 5
4 4
3 3
2 2
1 1

166




21

H24

H21

22

1,772

34

1,772

50

23

167



22

H21 H24
[ ] ®
22
8,672
7 8,671,500 7
3
3
3
3
3
3
23
10,232
10
5 5
4 4
3 3
2 2
1 1

168




23

H24

H21

22

23

169



23

H24

100%

H21

45%

22

48%

100%

23

170



24

H24

21%

H21

20%

22

790

20%

21%

23

171



24

H21 H24
1 e
22
20,000
1
4
2
4
4
23
o 10,000
o
o
2

R IN W B ol

=N W bSO

172




H24

56

H21

56

22

56

19

23

173



25

H24

H21

12

22

1,651,771

15

1,709

12

23

12

174



25

H24

H21

100%

22

100%
4

00000 00

00000

100%

23

000000

175



25

H24

100%

H21

83%

22

83%

100%

23

176



25

H24

H21

22

684

595

23

177



H24

H21

22

22 6 30

o

22

23

178



H24

H21

22

23

179



H24

H21

22

585

MNMogm

905

23

00

180



H21

H24

4
22
8,168
225
1,439
8,167,633
3
4
5
5
5
4
23
230
9,000
1,500
9,000,000

R IN W B ol

=N W o

181




H21

H24

3
22
9,895
270
1,979
9,895,000
3
4
5
5
5
4
23
300
11,300
2,260
11,300,000

R IN W B ol

=N W o

182




H21

H24

65
22
1,694
151
7,802
1,694,250 )
3
1 H21
4
5
5
5
4
23
200
2,501
9,260
2,501,000 )

R IN W B ol

=N W o

183




